EARAROBEEIERT — 2 N— IBISH —F

20124F9A30H () 11mFELL6H

Gl < (COC B ZHEBEERC 1 — Y IR—MK EEE R
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N N =HEAX :20. -1-1- . — EEEX (@)
1B 2| PN TT7 5 ' 56.0 1(2_0)4 ER R ! 5_5; HAED N
R:FY—+X2T BTHHTTS BLERS
o= o5 | EDEX 1:20.9 7-6-6-5 |37.4| — 6 471 | HIHEZ (RLL)
ol 4| K TENT .0 @ 1/2) o |BERE
LiANRTNTGZ B:xLIxLA ERYS
35 _ it 4 | EEBR 1:21.0 5-5-5-4 | 37.6| — 7 442 |IOFETE (HELL)
37| 7|37707 54.0 (a74) oy |HEEE
L h—> BART-HT— TS
S s 3 | B4 1:21.0 2-2-2-2 [38.1| — 2 447 | BIIEE (1BIL)
s@)3|¥7/737 54.0 (7€) L3 | FEEA
R:T7H T B v h—ET VIVt
44 | ERAI 1:21.1 3-4-3-3 |37.9| — 5 453 | /MEZEE (FRI)
511NV H 56.0 (7€) () |®EE i
X7 T—hMLVZXTT—h B:YvbhAO0F 1 — =Eickie]
: i 4 | EREEt 1:21.6 4-3-4-6 |38.5| — 3 407 | FIIIEF (8LL)
6/8/9(L/TAY—F 54.0 21/2) o |TEE
vy BANLTF-=I Slise
. - e | B i : —6-7— - SR — (fEl)
718110 d—ILR¥+ > RIb o4 54.0 1(/72::? 6676 1 38.0 8 ;1_3;39) HILaEE )
LA I TF49R Bixv NI —EX R 77—-L4
4 4 | FHH 1:22.6 8-8-8-8 |38.1| — 9 450 | MAZGER (FBLL)
8l7/8 RINIXA T 54.0 (5) +3) *?J:&T%
LA 2h1 BNV EIST> NEIE FIR
w s S helzskey 124, -9-9- . — KESED (&L
9 NN =L it 3 e 1(2;)4 9-9-9-9 |38.5 3 (4238) oy ]
L:vn7x B:xYTI-—F [al= e ]
NN . il 124. -10-10- . — SHBER @@L
wolsls| 7oy H 5 i 1(12/42)5 10-10-10-10| 38.2 9 (4+618) THEE
Z:7¥A4FaL MR B:vOvYvXy0OlL RO%%
® 1—F—@EBIERL
1T=7r= 2,3,1,9,7,10,4,8,6,5
23—94— 2,3,9,1,7,(4,10),8,6,5
Ja=5= 2,3,1,9,7,4,10,8,6,5
40—F— 2,3,1,7,4,(9,10),8,6,5
[ N5
B O 2 110 714K 2-4 530M e E 2-4 1,730M JEE 2-4-7 11,920H
B B 2 110H 2-7 870M B = 2-4 1,340 JEE 2-4-7 31,630
4 880H 4-7 1,890H B H 2-4 1,640
7 590M

ABICOVWTRDTEEERROODE. TR LIV,




